2018 (FE30)EE #HEARI=7HYvh—)—- HEBEX

2018/6/18 T

1aig5Ha E1HE F2E $3HE F4HE FE5HE
T\
= - 9:30 - 10:40 10:50 ~ 12:00 12:10 - 13:20 13:30 ~ 14:40 14:50 ~ 16:00
. E1HE ErE
2 —_l)—
==l FA5—U=7 18:00 - 19:10 19:20 ~ 20:30

FE2RA E3HA F4RE
s |\ ET#EG =140 40-2 1 1557K40 89 FM40| 3E1+40 6=1T40| 245240  TEEFF40 A¥E[RA0  5iB:1F40
WwHYHZ B #2H40 40-1 2 AEE[E40  5iEFNA0 | 2BEARER40  7THZFA40 184540 8=E40
5 | 8 ﬁ%ﬂfﬁﬁtﬁﬁ ;K50 50-1 1 1EERT50 9FFES50 375/K50 TREALERS50| 28250 s=+EMS0| 4WEES50  E%RES0
EAAFEOS)—2T4—ILF| E#AS0 50-2-1,40-1-1 28MH50 7=1=50| 1;E#50 87 RJL50| 44ERS50 5i4:E50 3EEL50 6=B50 |2BEKLE40 8=540
ELT#HAG E1TE50| 50-2 2 41E[R50 87 AJLS0| 1;EHA50 72X ES50| 3150 5:8:#S50 25H50 6=EK50
2 |8 BHRSEEGKEE | B4 40-2-2, 50-1-2 28250  TEEAREES0| 1;E7K40  TEERF40 AfEE50  SEERLS0
4 BRREARAIZ Eik40 40-1 3 3EM40 5iEHN40 1864540  7HE2[40 A%5FE40  9FE40
BRI EELHERS 7&7K60 60 1+2 OB BH1S 5EEFT60  THTE60 3;57/K60 S8HEEMG60 2455260 9= =60
28 || BEREARAIZ BEA%X70 | 70+75 1 3FHET0  4EKT0 28E K70 5EHAT0 75370 757870 1HAR70  6FEERT0
ET#HEG EtER40|  40-1 4 2MERLE40  5iEFR40 1BERR40 6=+ Em40| 8=EB40 9FE40 3B5ME40 4EE[40
e BHERSEEISIREIE | BEFF50 50-1-2. 40-2-2 3iE/K50  63%[50 1ELFF50 sE+EmMS0| 3=140 58240 28R40 6L EH40
BRRELABEYYH—15 | BE60 60 | 2+3 [4EALEE60  THE60 1354560 9EL'=60| 5ELFF60 6;E4260 21260 84260
EEFEOSY—2T4—ILE | GEFAS0 50-2-3,40-2-2 3=150 4#E50 1;EMM50 6=B50 |7EX=50 8FRJIL50| 28MH50 5i8:E50 A¥E[R40 8T FMD40
6 | @ ELTHRE =160 60 1 1HER60  1138:860 | 24E#60 10=160 | 37F/K60 9FEL=60|45k+kEE60 82260
IO/ \EBIEREUS SEFAT0 | 70+75 2 3FHET0  6FERT0 1BK70  5EHT0 75870 757570 2FERRTO  4557K70
13\ JRTYTE i&7k40 | 40-2 3 TEERFA0 89 FM40| 1357K40 6= +=40| 285240 53240
5 BERE A EELERRS | BEE40 | 401 1 4EE[E40 e=tEM40| 1ERR40 9FEA40
20 | B | BEREe A RELHRFIS | #%ER50| 50-1 3 3i57K50 5EEA%50 1BERF50  TRERREES0| ABEE50 9FHES0 282M50 65450
24 | K TR #HET0 A 3 5;EHA70  6EEERT0 2FERLT0  3FETO 75370 757870 1EK70  4557K70
27 |2 ELHRAEG =+ &5  50-1 4 1BERFS0 63250 |s=+Em50 9FHES0 3;F/K50  4%EES50 282M50 5EEFL50
ET#EG E1X=40| 40-2 4 215240  4HE[R40 |6 E=40 83FFM40| 3=140 TEEFF40 1;57k40  5iB;E40
3 |\ BRTHEAIZ $&K70 | 70+75 5 3FET0  5EHT0 4357K70  6FERTO0 75370 757870
IONALE JEHA60 60-3+4, 40-1-2 3;B/K60 THE60 |4FEILE60 6;EHN60 S5EERT60 1157860 | 173460 8AZM60 3EM40 6=t ER40
WY HHyh—i5 #2M50 50-1 7 65550 9FES0 28BM50  3iFK50 5FEAX50 s=tERS0| ABEE50  TEERLES0
KFHNE RS EH50 50-2 4 3150 7=1=50| 28550 44E[ES50 6=E50 8F7RJL50| 1EH50 5iBiE50
0 lg@ BHMEESLNE FEFD40| 40-2 5 6=+ =40 TEERF40 578240 83 FM40| 28EE40 3EL40 1557K40  44%[F40
6 EFEOST)—2T4—ILE| B0 40-1 7 6ETEMm4A0  9FTE40 5Ef40 8=840 A%%[E40 7HEFEA0 | 2BEF%XER40 3EH40
T/ \EBERBUS EZFF50 50-1 9 SREERR50  TEERLEES50| 1BEFFS0 24EM50 35EK50  9FHES0 6550 SsELEMS0
16 || BHEHRELABRAIZ BEART70 | 70+75 4 43FIK70  5EHAT0 2/ERL70  6FERTO 75870 758870 1EAX70  3FHET0
=EZHETAIZ =550 50-2 5 578i#50 8F7AJL50| 6=B50 7=+=50| 2BME50 3EL50 1;E#N50  44BR50
17 || BEEMERELRBIS | BSER60 60 4 2260 THTE60 |4FEKLE60 5ELAT60 3;E/K60  6iEMN60 | 102160 1153:£60
BB EAEME LIS | B0 40-1 5 2ERLEA40  4F%RE40 1HEF40  5iEHNMO0 35MHE40 8=E40 7TEEE40  9FE40
ETHREG ELEm50| 501 5 1EEFF50 5FE4%50 3EK50 sELEMS0| 28BS0 4ABERS50 | TEERLES0 9FES0




F25E

E3HE

FoRA

BB E A RELHRIS | BERE40| 401 6 TEEEA40 8=B40 |2FEFLE40 9FE40 1HE4R40  48%[40 5iEMNM0  6ETEM40
1 |8 ETHAEG E+50 | 50-2 6 5850 6=550 1;EM50 3E150 28MH50 8F7RJL50| 44ERE50 7= E50
BiElE LS E£FF60 60 5 184560 THE60 3;&/K60 SEEFT60 21EE60  6;EFN60 | 4BEARER60  1138:E60
5 | K BEE TR 270 | 70+75 3 5EFA70  6EEERTO0 20ERLT0  3EETO 75870 758870 1/AKT70  45E7K70
7 [+ WOYHHvH—IE #EMG60 | 6570 A 2—1)—% | 28EAX70 vs 5IRART0 Shib | 8HEEFHGE0  6EHR60
BEETEELHES BEE60 | 65 A F—'—Y |4BERRER60 1HEAR60 | 24EiE60 THE60
14 | | #AHAEsrSELEERKE | &K70 |65-707144—1)—4 | 3i&/K60 5EEFF60 1EKR70  45E7K70
BELZBNREES JBiE60 |65-70F42—1)—5 | 3HEI0 6FERI0 | 102160 117860
15 | B BEET ERE LS 13250 50-1 6 28EM50 9ES0 1BEFF50 ABER50 | 7HERLEES0 S8ELTE®50| SEEFX50  6ER[S0
2 | 8 ELFEOS)—2T4—)LK | GERAS0 50-2-7. 60-1+2 1#H60 10=X60 | 1;EH50 25MH50 4¥E[E50 6=E50 3150 8FRAIL50| 5BE50 TEEES0
ET#EG E+ERS50| 50-1 8 6EEMEIS0 THEAXEES0| 4WEES50 sEtEMS0| 1EEFF50  3iFIK50 5EERE50 9 ES0
20 | B BER—YLEE EL=40| 40-2 6 1357K40 3140 5785240 6= H40| 24 240 8T FM40| 4BE[H40  TEERF40
KF)IIBE B ES ¥ER50 50-2 8 3E+50 6=850 4fE[R50 55B5E50 1;EM50 8F7RJL50| 2BH50 7=+=50
5 |\ BERR—YLEE BiE40 40-2 7 A¥E[R40 6=+ =40| 5840  TEERFA0 1557K40 29240 3EL40 8T FM40
ZEZ BHHEES iBiE60 60 9 285260 3557K60 8EEM60 115Z33£60 | 7HE60 9E+=60| 6;EH60 10E160
12 | ELAEQS)—2T0—ILR| R0 | 40-1-850-1-18 |e=+Em40 7EEM40 5EMNM0 93T E40 184540 35 M40 AF5E40 8=EB40 5EERE50  TEEREERS50
B L B ES BiE50 50-2 9 2EMH50 6=E850 3E+50 5iBiE50 1EM50 7=+E50| 48E[E50 87 RJL50
EEZ B ES BiE60 60 6+8 8HEM60 10E160 [9F+E=60 113260 | 24EE60 4FELE60
10 | @ ELTHAEG E+TEM40|  40-1 9 3EM40 9FE40 |e=tEm40 8=BE40 5;EHN0  7TEEFA40 18ERR40  2BERIER40
WY HHyh—i5 A2M50 50-1 10 45EES0  EERES0 282M50 emtEMS0| 3;F/K50  TREERLES0| 1EEFF50 9FES0
POYHEER ¥EMR40 | 40-2 8 3E+40 6E=1H40| 4¥E[H40 5iBiE40 28240 TEERFA0 15857K40 8T FM40
BT JRTYITE HE60 60 8+9 6;EM60 11533260 | 78260 105160 | 84ZM60 9F+=60| 15EH60 47ERKE60
2% | @ B L B ES 78B40 | 40-2-9.50-1-11 43EIEA0 8T FM40| 3Z140 5i3:E40 1557K40  7ELFF40 3i57k50  6&%R50
BEIR—YIEES BEARERS50 | 50-1-11 | 70+75-8 | 1BRAF50 s=+Ems0| 28ZM50 7EERREES50| 5iEH#A70  6EER70
IO/ \EBER S EH40 40-1 1+10 4ER[EA0 eZtER40| 3EMH40 TEEM40 | 2BEARE40 8=E40 1BE#%40 9240
ETHRE =+=60| 50-1-17,60-7 5EERE50 OTES0 |4FEELEE60 9= 60| 6;EH60  TEE6O
) @ itz ;&7K40 40-2 3+10 3= 140 o 445840 1;57k40 6= =40| T7EEFF40 8T F D40
BEHEEIE AR Y vh—15| FAK70 | 70+75 6 3FET0  45F5KT0 1%AT0  6EERT0 75870 757870 2/EFX70  5;EHAT0
POYHEEH B2EH40 | 40-1 3+12 | 2FEA%TE40 o 6=t E®M40 | 17440  7H2F40 AFRFE40  9FTE40 35MH40 5;EHNM40
—EZHETAIZ =840 | 40-1-11,40-2-10 | 3EMH40 6EFtEm40| 1#EF40 8=B40 |2BE4RE40 7EEM40 4%%FE40  5;EFR40 215240  5;3:240
9 | B K3)IIBE EFRES ¥ FR50 50-2 10 2EHMH50 5i3:£50 3= 150 448/E50 |7E+E50 8FRJLE0| 1;EHNE0 6=550
WPOYHZEH £4[E50 50-1 12 4EES0  9FTES0 282M50 6%%ME50 1BRAF50 7RRAREES50| 35E/K50  5EEAX50
BEETEELFRES #HE50 | 50-1-13, 60-5+6 28EM50 5FERL50 |sELTEMmS0  9FES0 1460  6;E4260 1B£/F50 6%%ME50
16 | A —EZHETAIZ =840 40-1 16 2BEFRER40 3B M40 5;EH#NM0  8=840 48%[H40 722H40 |eELEM4  9FELO
BEZ BN ES iBiE40 40-2 11 3E+40 7EERF40 1557K40 58240 |6=LH=40 8T FM40
23 | B BB AREEELFREIS | BREE40|  40-1 14 TEEE40 OFEA0 | 27EARE40  4F%[40 38MH40 8=840 1ERR40  5iEHN0
ETHEG =460 | 60-5+6, 50-1-13 285260 S5EEFT60 |9E1 =60 10=160 | 35HK50 4BEES0 3;57K60  4FERERE60
K EE L 3RS BME50 | 50-2 [ 11 1E#50  5:8:#50 2B M50 4#[E50 6=550 87RJ50| 3EX50 TELE50
30 | B | B E L EELRERS | BEE60 60-7, 50-1-11 3;E/k60 10E 160 | 28260 118260 | 5EEFF60 82EM60 ABEES50  5BEAR50
EHETEYHLE JZM40| 40-2 [ 12 15E7K40  4HE[R40 | 5iBiE40 8T FMA0| 28EE40 3EL40 [6ELE40 TEERF40




E2HE E3HE AE EEHE

7 e BETHRSEAIZ BER70 70+75-7,60-8 20ERLT0  45FKT0 3FHET0  6FERTO 75870 758870 17EK70  5iE#T70 18EF560 5EERT60
BEHRG AR50 50-1 14 |7ERAEE50 9T ES50 1EEFF50  5EE4%50 3EKE0 smLES0| 28BS0  44EES50
14 | @ ET#EG =140 40-2 13 A¥E[E40  TEERF40 1357k40 3E140 245240 8T FM40| 5:7BiE40 6T =40
10 BRRE A ERE LGRS | BR40 40-1 15 5EMM0  eELEM40| 1BEARA0  4FRRE40 | 2BEAREE40 9 E40 7EEME40 8=B40
27 || BBREAERAIZ FEKT70 | 70+75 8 20EFLT0  3FETO 1/EK70  45FK70 75370 75870
PR ERE LB EH40 40-1 13 1BEKE40 6E+Em40| 3EM40  4ERRE40 8=540 O9FE40 |28E4RER40 5iEIN40
28 | H| e E 0 EELERES | Bf®E50| 50-1 15 SEEAX50 6ER[ES0 | TEEARERS0 sELTEMS0| 28250 9 ES0 1EEFF50  4HEi£50
=E_HETAIZ =B50 | 50-2-12,40-2-14 1;EH#A50  48E[ES50 6=B50 7=+H=50| 2BME50 3E+50 5;Bi#50 8F7RJL50| 1;E/K40 24ER40
4 |H ZAREZ BN JEFATO | 50-1-16,70+75-5.40-2-11|  1FE K70  28E4K70 AREES0  THEAREES0| 2WEE40  4HE[R40
EETFEOSY—2TD4—ILE| FE40 40-1 17 455ME40 8=8B40 5EMN0  9FTE40 1BERR40 3BM40 |6E+Em40  TEEMA40
11 | B EE TR JEK50 | 50-1-16,40-2-10 | 5@k#k50 szt &Ems0| 282M50 35F7/K50 655fH50 9FES0 32140 48R40
WY Hyh—i5 #2M60 60 10 1554560  3;57K60 6;EHN60 BEEF60 |47EIXEE60 10=160 | 5EEFF60 9=+ =60
18 | A ET#HEG =+ &Ef50| 50-1-17, 40-2-9 6FFM50 T7HEAREES0| 4%E#E50 s=+&ms0| 1ERAFS50  3;E7K50 2140 6E L E40
11 18 |H| =MEEEAEKEIS | /EM60 | 60-11,50-2-13 1;E#50 3E150 6;Ef60 9= =60
=EZHETAIZ =B40 | 40-1 18 1HEA%40  2FERNEE40 | 6=+E®40 8=EB40 5iEHN0  TEEFA40 3EMH40 9FE40
25 | B BHMEESLNE TEDL0| 40-2 14 4¥E[R40 6= =40| 3=EL40 8 FM40| 5iBiE40 TEEFF40
ELT#HAEG =150 50-2 14 5850 7EXE50| 3150 8F7RAJ50| 1;EHS50 2EHMHS50 4¥E[E50 6=E50
POYHEEH #M50 | 50-1-18, 60-10 3i5K50 9FTES50 1EEFF50 222F50 TEIE60 11333260 | 6F[M50 s=EtEmMS0
29 | K EaRE IR $&K70 | 70+75 10 3FET0  5EMT0 43&FIK70 B6HERT0 75370 757870 1EHEK70 2870
> | @ IaONAIE #2M60 60 11 1BERE60 205260 TEE60  84ZM60 | S5EEFF60 10=160 | 3iE/K60  113BiE60
12 ELT#HAEG E+m50| 50-2-13,40-1-12 | 5i8B#E50 6=E50 A1E[R50 7EXE50| 2BMH50 87 RJL50 |2 40 6= ER40
9 | A EILFEQS)—2Ta—ILR| ET0 | 70+75-9,40-1-10 | 2§E4%X70 6EEER70 435K70  5iEHATO 75870 757870 1EK70  3HET0 3EMH40 7EEFA40

W12A228 (L) REX-LET a0l Ri5:79—KR—ILEE =2k 15:30



